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#4
Assignment #3

25 points

DUE:  October 1
Boom-Boom Claims Processors is a company that processes automobile insurance claims for large national insurance companies.  Most claims processing is done by a large pool of permanent and temporary computer operators.  A permanent operator can process 16 claims per day, while a temporary operator can process 12 per day.  On average, the company processes at least 450 claims each day.  The company has 40 computer workstations.  A permanent operator averages about 0.5 claims with errors each day, whereas a temporary operator averages about 1.4 defective claims per day.  The company wants to limit claims with errors to 25 per day.  A permanent operator is paid $64 per day and a temporary operator is paid $42 per day.  The company wants to determine the number of permanent and temporary operators to hire in order to minimize costs. 

Define the problem.  

What is the goal?  What is the problem statement or question?  What are the decision variables?  

Build a model.

In this case, you will build a linear programming model.  What is the objective function?  What are the constraints?

Solve the model.

In this case, you will use STORM to solve it.

In addition to the addressing the problem statement/question, report the shadow prices and the slack/surplus prices (in words Boom-Boom can understand and relate to).
Submit the following, stapled in order:

a)  cover page (see handout #1, page 3 for a list of the items that must be on the cover page)

b)  Executive summary (report to the client):  memo to the client to explain your findings (see handout #1, page 4 for a list of what this memo must contain)

c)  the problem definition 

d)  the decision variables and linear programming model

e)  the STORM printout
Note:  As with all assignments, this one must be presented in a professional manner, typed, spell-checked, and grammar-checked.  See handout #1, page 3 for more information.

